Use the following to answer the below questions: 
Consider the following partial computer output from a simple linear regression analysis. 

	Variable 
	Coefficient 
	Std. Deviation 
	T 
	P 

	Interecept 
	‐28.13 
	‐.088 
	.9309 

	X 
	1.12 
	.04891 
	22.895 
	.0001 

	R2 .9722 


What is the estimated y‐intercept? 

What is the estimated slope? 

Write the equation of the regression line. 

What is the predicted value of y when x = 1,000? 

Calculate the correlation coefficient. 

Write a sentence interpreting what R2 means given the independent and dependent variable.
